(4-3-1)+(2-1-8) = (4+(-8)) +((-3) +2)
= (~4)+(-Di= 4]

2-3i (2-3i)(4+i)) (8+3)+(2-12)

A—i (A=) (4+i) 17

11 10
17 17
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(4+D3B+2-D)(A-1)= (10+11)(A—-1) =21+1I

3(—1+4-1)—2(7—i)=(=3+12-i)— (14 + 2i)
= _17+14 ]

(i—2)(2A+)=3(-1) = (i—2)(2+2i)—(3i-23))
—(i—2)(5-i) =-9+7i
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] - (2] (2] o720

Hinweis: 2 =i -i=—i (i) =% =i

(2+1)(3-2)(1+2) (8-i)A+2) 10+15i  (10+15i)i
(1-i)? - -2y =2 (=2
_ (10i-15) 15

=——+5I
2 2
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Ji=a+pf ‘Zé

5 2 az_ﬂzzo
i=(0€2—,82)+20(,8i :>0( _'B _O‘ = 1
aff =1 ,Bzg
2
ﬁaz—(i) -0
2
4 s 1
= 40" -1=0 =« =Z
=>0(2_1 :aziﬁ :>,B:J_r£
2 2 2
2 2 2 2
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22+(i—2)z+(3—i):o DX+ QO

_i—2+\/(i—2)2—4(3—i) XL2=—%i p
1,2 2 A 5

:(1_1i)+x/(3—4i)—(12—4i)
2" 2

_ 15 JE9)
=(1 Z)i >

—-tps2 2, =(1-1) vz, = (1-2)

2 2
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Seien z,=a+bli z,=c+di
Zeige: (z,-2,) =2,-2,
(z,-2,) =(@@+bi)c+di) | z -z, =(a-bi)(c-di)

=(ac —bd)—-(ad+bc)
= ((ac — bd) + (ad + bc)i)’

=(ac —bd)—(ad+bc)i
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Seien z,=a+bl z,=c+di

* N

Zeige: 4|4
ZZ ZZ
2 *_ (ac +bd) + (—ad + bc)i | Z} :a—g!
Z, c? + Z, C—dl
\ (a—bi)(c + di)
ac+bd bc-ad. = 2 . 12
—| ~2 7 T2 7! C* +d
c°+d” c"+d ac+bd ad—bc.
= + |
c’+d®  c’+d’
_ac+bd bc- ad _a(:+bd_b(:—adi
2+d® 2 +d2 c’+d* c°+d°
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